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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY guestions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part ts indicated agatnst it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.

HXS-G-GSU 1



Q1.

Q2.

Q3.

Q5.

Q6.

Q7.

ufth @1feed 1 v &1 qeaids 0 g0 W wep § 359% dree # fufo
it | (150 Frsgi & FwC difom)
Evaluate the nature of the Bhakti literature and its contribution to Indian
culture. (Answer in 150 words)

a1 T U s G & fasry wed § amfas-arfifs gun steE] F Ieaw qwn
fearpra it Ywifha i | (150 wedi # 3o Afm)

Trace the rise and growth of socio-religious reform movements with special
reference to Young Bengal and Brahmo Samaj. (Answer in 150 words)

"t famdl % v £ ufen § ge swte gE @ amfeaiste
TS| 1 AT hifae | (150 w2l § Iw Eifu)

Assess the main administrative issues and socio-cultural problems in the
integration process of Indian Princely States. (Answer in 150 words)

femTer &% aw wfvendt o § ymgerl & fafim SRl & W e Hifsu

(150 =] # 3o 4ifow)
Differentiate the causes of landslides in the Himalayan region and Western
Ghats. (Answer in 1560 words)

figaMcie & 391 § & U &4 % 9aeg WRA $ @4 I 94 el Hie] IE
(S 21f1.) ® aga @ wiowa 1 drem 24 & | fadsan Hifs |

(150 wregi H 3w #ifom)
Despite India being one of the countries of the Gondwanaland, its mining
industry contributes much less to its Gross Domestic Product (GDP) in
percentage. Discuss. (Answer in 150 words)

el 4w 39gm & fow 9@ Femi 8 qfi-sgr & w@iaofa ywEm =0 § 2 sewwi
wfEm FEmET | (150 weat 7 I i)

What are the environmental implications of the reclamation of water bodies
into urban land use ? Explain with examples. (Answer in 150 words)

2021 4 =fed saremE farwe $i Afvas gensd F1 3gE w0 gu afm gwieo @
3% gRT S WHTE FI 7@50 | (150 weg) ° I difau)

Mention the global occurrence of voleanic eruptions in 2021 and their impact
on regional environment. (Answer in 150 words)
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Qs.

Q9.

Q10.

Q11.

Q12.

Q13.

Q14.

WA %1 Uk IYWETGI 1 W e 8 2 fasangds s A |
(150 ezt # 3w #ifu)

Why is India considered as a subcontinent ? Elaborate your answer.
(Answer in 150 words)

EAUN % W 3 @eptos yonfedi 6 gern § snfzand s s 6 fafirea
1 witg i | (150 =g § I #fiw)

Examine the uniqueness of tribal knowledge system when compared with
mainstream knowledge and cultural systems. (Answer in 150 words)

A # wfeensii & wwfewr i wima § fm gwanh’ £ gfiem 5 e i |
(150 wregi 9 3o Zifow)

Examine the role of ‘Gig Economy’ in the process of empowerment of women in
India. (Answer in 150 words)

ot #1 yfiem 3 fFa dim a5 save wAgar sTEie w5 snan d9n fe 0
feoquft ifsw | (250 wedi # 3w i)

To what extent did the role of the Moderates prepare a base for the wider
freedom movement ? Comment. (Answer in 250 words)

FEEAT AR e BfaTT STas FEe % 2 gare i ¥ A F
&1 vy Fifsre | (250 =g 3 I )

Bring out the constructive programmes of Mahatma Gandhi during
Non-Cooperation Movement and Civil Disobedience Movement.
(Answer in 250 words)

“ﬂﬁﬁﬁgﬁ%ﬁaﬁﬁﬁammﬁ%h@ﬁﬂtﬁ#ﬁm@ 1”58
HYA H1 GedihA Hifor, | (250 Wezi # 3o Aifaw)

“There arose a serious challenge to the Democratic State System between the
two World Wars.” Evaluate the statement. (Answer in 250 words)

fava i wi@ wda sfEenai F dwv w1 dha Ieere £ a6 e G
T 9% WHTEl 1 WieEw v hifs | (250 wEE #§ I df)
Briefly mention the alignment of major mountain ranges of the world and

explain their impact on local weather conditions, with examples.
(Answer in 250 words)
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Q15.

Q16.

Q17.

Q18.

Q19.

AFRF H 7% i sehles F wifiet & fawn fFa aw se-sen @1 | ged
o g % wEE N ass 6 nfefafiet oy gem @ 2 s Fife

(250 r&2] # 3 ifom)
How do the melting of the Arctic ice and glaciers of the Antarctic differently

affect the weather patterns and human activities on the Earth ? Explain.
(Answer in 250 words)

fava 1 @l G % s faa F sgemandt sl 6 faEsa fifs |
(250 wreei § 3w <ifT)

Discuss the multi-dimensional implications of uneven distribution of mineral
oil in the world. (Answer in 250 words)

WA % waE Wl # A wenil % faww @ I A A g amieh- i
o w41 # ? (250 eg °H I dii)

What are the main socio-economic implications arising out of the development
of IT industries in major cities of India ? (Answer in 250 words)

e fen % wqa It 61 fEem Fd gu YRa H $E 9 e & 39 W
ferega webmer =iferm | (250 vregi | Ier i)

Discuss the main objectives of Population Education and point out the
measures to achieve them in India in detail. (Answer in 250 words)

frcrrrtht w1 & 2 AfFas TuTe F1 A8 F walad sl @ 2 #9097 WA qu w6l
off senfae T T8 8 2 (260 weg] H I i)

What is Cryptocurrency ? How does it affect global society ? Has it been
affecting Indian society also ? (Answer in 250 words)

Wity T et St qedl § e $E e TEe # 2 AN A
qftadat @1 fareror S | (250 wrea] 6 3w i)

How does Indian society maintain continuity in traditional social values ?
Enumerate the changes taking place in it. (Answer in 250 words)
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